- based on

(4}  Simon Commission
{8) Lord Curzon Commission
{C) Dimitrov Thesis

(D)  Lord Clive's repart

Part-A: General Awarenass ANOTCGLT2023 HIET & WA ARl
HIA] & {EATA SEEA
PART-A: GENERAL AWARENESS
Who among the following was nat a |1, fAm=aiad # & &4 HET B
member of the Drafting Committee of Y WETTT TR #T w@eEw A an
Indian Constitution?
(A} B.R. Ambedkar (&) drae. e
(8)  Alladi Krishnaswamy (Bl  3ewIEl FeoTEaTH!
(C) Rajendra Prasad €l Tetes W
D) Gopalaswamy Ayyangar (D)  FirgrerEaE ST
Which  was  described by |2, S draw d@sHT & B ERuE W
Dr. B. R. Ambedkar as the 'heart and e 3R MEAT TET AT
soul” of the Constitution?
(A} Right to Equality (A]  FEwaT w AT
(B} Right Against Exploitation (B] sireor F Toeg FUSN
{C) Right to Constitutional Remedies (€) wHdwRe Iganl & HiUER
D) Right to Freedom of Religion (D) et #r FEE=aT = AT
Who appoints Secretary General of the 3. AFEET & AETEiYa & ﬁ'ﬂﬁ-‘a A0
Lok Sabha? AT B
(A) Deputy Speaker (Al  SoTemEy
(8] Speaker (B] s
(C) President (C) * Tregafar
(D) Leader of Ruling Party (D) TeaTEs & & AdT
The Government of India Act, 1935 was | 4.  #g &0HN yofmw, 1935 e o«

Hrenf o

(Al e FHARE
(B] @& sale HIGHT
(C] R 4w
(D) ﬁémﬁrﬁ:ﬁ
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Part-A: General Awareness ANO7CGLT2023 oot Emﬁﬁ_

5.  The method of impeachment of the 5. s & T WA et
President of India is adopted from FE T HYAE 7
(B) UK (B) ¥F
(C)  ussR (c) wfEuT A
D) France (D) e

6.  Who among the following was not a |6 frsriaiem & & i Eal,?‘“g 1946 #
member of the Constituent Assembly wifte wfate &3 ST OEET A5 a9
established in July 19467
(A)  Dr.Rajendra Prasad (A} =¥ ooty s
(B) K M. Munshi (B) o i
[C) Mahatma Gandhi (C)  =grear efr
(D) Abul Kalam Azad D)  s=ga waEwT e

7. Where was the ‘Azad Hind Fauj 7. 'wrarg, e wie $r =g FEl E'g'
founded? ;

i

{4}  Thailand (A) e
(B)  Britain (B) fees
() Italy (C) mear
(D) Singapore (D) R

8.  The Seven Pagodas of Mahabalipuram | 8.  wgreeliqrsr & Wi woier Feaer Zamr

are witnesses to the art patronized by

(a) Pallavas
(B) Pandyas
(C}) Chaolas

(D) Cheras

TIET & & e &
(A)  oEwa
(B) gz
€l «=w
0} <=
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Part-A: General Awareness AND7CGLT2023 AT 5 TTATT AT
E. Iapan_'F"aﬂiarnent is known as 0, _-_EI]'EIF-F $r g = FET Fr & -
(A) Diet (A zme
(B) Dail (B) %=
(€}  Yuan ©) T3
(D) Shora (D)} 3T
10.  Who was the architect of Taj Mahal? 10, Tl FEw @ S i un
(A) Ustad Ahmad Lahouri II:.'ﬂ-'_i TS HEAE oRHT
(B) MNorman Fostor (B) Sfd= wiT
(C) Henry Irwin (C) & s2mEe
(D) Shah Jahan (O) smeaml
11. Indonesia was a colony of which of the | 11 #@f8 Wwlalaa 7 & a v &1
following countries? o3 yp
(A) Spain (&) o=
(8) Dutch (B) ==
(€) Portugal (€ oifemw
(D) Belgium (D) s
12. Which of the following is paired |12. Fw=faf@e & @ sia w 7o als &
incorrectly? Siter aran B
(A} Pannalal Ghosh — Flute () oaTaTe EY - i
(B) Guru Gopi Krishna — Kathak (B) 1% TIRdT T - FAF
(C)  Nikhil Banerjee ~ Santoor (€} i Tl - g
(D) Nandalal Bose — Painting (D) T 9w - e
13. The sum total of incomes received for | 13. &7, ;Lﬁ a1 geft fr #FEnd & B
the services of labour, land or capital in ot T A F N7 FEeET
a country is called
(A} gross domestic product (Al Fe e e
(B) national income (B]  Tfyar ama
(C) gross domestic income IC) W O 3T
(D) gross national income (D)  www Tl FETE
i
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ANO7CGLT2023

HIAT F: ATAFY ARSIl

14,

15.

16:

17.

Total internal reflection cannot take
place when light goes from

(A glass to water

(B} water to glass

(C}  water to air

(D} glass to air

Asbestos is formed of

(A}  Calcium and Magnesium

(B) Copper, Zinc and Manganese
(C) Lead and Iron

(D] Calcium and Zine

A passenger standing in a bus is thrown
outward when the bus takes a sudden
turn. This happens due to

(A) outward pull on him
(B) inertia of motion
(C) change in momentum

(D) change in acceleration

Electric current in a metal wire is due to
the flow of

(A}  Electrons

[B) Protons

{C) lons

(D) Holes

14,

15.

16,

o 5

oot Al guEds A6 8 Fean oW
TETIT T TS AT
(&) T T I HHT
(B) == & @7 &7 3R
() & & Iy & 37
(D) i & arg &1

wraEeH @ AT g
(8)  &Fwms d#r &
(B)  afar, s HiT A
Q) & i s

(0] Sfowms v G

F TH W= AFAT ¢ of W A e
AT fr W7 Fr oS &) e s
THILOT BT 8

(A} =@ oy ¥l T

(B) wiaddr=se

(C) #ver 7 ofads

(B) = &/ ofeds

urg & A ¥ fEgE uwr S v
gl 87

(A) =g

(B] drem

(€)=

D) fosr
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Part-A: General Awareness ANOTCGLT2023 HET F: AT AR

18. Clothes keep us warm in winter because 18, @yd g wigat & o e § weite
thE']' I
(A]  supply heat (A}t fr IR
{B)  donot radiate heat (B) vl Radfet & =1
(C) prevent air from contacting the C) gar = AN & #9% A 3= &

bﬂd‘,’ m_]
(D} prevent the heat of the body from D) il & At o oA Feeer &
escaping o

19. Teslais a unit of magnetic 19, FEAT dqadE B U i
(A)  Fluk ) e
(8) Induction (B} ===
(C)  Moment (C) =
(D) Field (D) Frem

20. The splitting of white light into its 0. o7 U= BT IO TS A BETE
companents is due to fmd ST g &2
{#)  Reflection (A)  TeEEE
{B) Dispersion (B) Erys
{C) Refraction (C)  Yoawew
(D) Transmission D) ==

21. Which of the following metals is used 21, e &9 fvw oI & TTATT
for the manufacture of heating Rregd sEA0l # 39 ANE del &
elements provided in electric iron? =

A & R fFar s &7
(A)  Nickel (A)  Tereme
iB) Chremium (B) s
{C) MNichrome [€) s
(D} Tumngsten (D) &
e
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T h: HTATT SAETEHAT

22

23.

24,

25.

26,

When the barometer reading dips
suddenly, it is an indication of

{A) hotweather

{B) calmweather

{C} Storm

(D) dry weather

lce is packed in saw dust because

(A} saw dust will not get melted easily

(B) saw dust is poor conductor of
heat

(C}) saw dust is a good conductor of
heat

(D)  saw dust does not stick to the ice

Who is first to intreduce the concept of
Cold War, coining the term
"Stereotype”?

(A)  Attlee

(B) Paul Kennedy

(C)  Walter Lippmann
(0) Thomas Friedmann

Who Is author of the book “The Politics
of Extremism in South Asia'?

{A) Shashi Tharoor

(B) Kushwant Singh

{C}] Nirupama Rao

(D) Deepa M. Ollapally

Which is the India’s first newspaper?

(A} Hindustan Times
{B) Indian Express
{C). Deepika

(D) Bengal Gazette

22.

23.

24,

25,

26.

o ey H T IEeE w98
ST #, A gEe Hehdl &

(a) @ H\w

(B) snier Htww

a& T quk & gafev A f S
& Fulfs

(A) e FmETE @ A R

(B) arer SOAT & Feles G1AT £

(€l arer FwHT 1 Heol 96 §

(D) mmEr &% o RO 98 g

wiftdere W #oMfeE w1 g
M g & FUROT B WG T
o WEW eafea wiw 47

IA}  wEm

\B} e drer

i€ arwe Towds

(D) «TAE WEHT

T Oinferg ¥% tFEdEeR ==
FEY U R AEE S 8
(&) =ofr uwy

B) e e

(€ Frewer 1a

(D) &y we. Hewmaear

AR T T8 FAYRK T7 @t &7 £7
(A)  Tegram zewy
(B) Sfgas veauw

(€} it
(D) =mA e
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Part-A: General Awareness ANOD7CGLT2023 T &F: ATATY FTAEHal
27. Which treaty was signed on 28 June 27. 28 S 1919 w1 f5w 5f 9w g ER

19197 Rt T 99
{A]  Vienna (A Eaar
B) Geneve (B) fa=ar
[C)  Versailles (C) =d=
(D)  Pearl harbour (D) et gee

28, Wallace Smith Broecker is the man whe | 2B. - g [Eay oo fem wes =1 o

coined and popularized which term? s 3T sEfeT aaTar?

(A] Post truth {A) dRE EYW

(B) Green revolution (B} =T ETear

(C) Global warming (C)  woiterer wifder

D}  Sustainable development (D) FrAaw femudc

269,  Which one of the following divides India | 29. s &7 I 3itr sf@oh st &

inta Morthern and Southern parts? frenfarT Fra &

(a) Equator (&) spmvesr Ymw

(B) Tropicof Cancer (B) w% rmr

(C) Tropicof Capricorn (€ 7=t tor & ot &89
(D)  Arctic Circle (D) smHfew Tew

30. Which one of the following countries [30. TR fd s Ter sd §

shares longest border with India? T FER A T aen S 2
(A) China (A) ==
(B) Bangladesh (B} aimmar
(€} Nepal (€} o=
(D) Pakistan (D)  arfrEe=
s 9
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Part-A: General Awareness ANO7CGLT2023 AP &: AT SRl
31, In which one of the following regions | 31. TeeATaiaa & § fFE &6 & e &)
does the Indus River originate? 1 IegTer g 4y
(A)  Ladakh (A} v
(B} Lahul (B) wmEtE
(C} Nepal (C)  #are
(D)  Tibet D) Taeaa
32.  Which one of the following places is |31 fwafoted & § &a @1 &W 6
famous for production of railway Frat & sowET ¥ v uflg &7
coaches?
{A) MNasik (a) sTaes
(B) Kapurthala (B) wepren
{C) Kolkata EEII A E A |
{0} Bhubaneshwar (D} zi-q-.n'u;r
33. Theterm '‘Operation Floed' is associated 33,  '3igiee TeE o TREd meeEtha B2
“with
{A) Blue Revolution (A = w T
(B) Golden Revolution 8} wafthw =i
{C) White Revolution €} e =iy |
(D) Yellow Revolution (D) fredr wifer
14, Which is the only Union Territory to 34. UHAE Sz wag v BEwr s3gar
have a High Court of its own? T FTET E
(4) Chandigarh (a) =EwE
(B) Delhi (B] =T
(€) Andaman & Nicobar (€) a=zae i PR
(D) Lakshadweep (o) aﬁa::ﬁtr :
10 Re

i
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Part-A: General Awareness ANO7CGLT2023 HTT F: AT Aol
35. A person to be qualified for standing in a 35. vaEd g H @2 B & v ahg
Panchayat election must have attained =t 1 377 feoe e afge

the age of 5
(A} 21 years (A} 21 ad
(B} 18 years (B) 18 =
(C} 25 years [C} 25 af
(D) 30 years D) 30 a%
36. Cattles are capable of digesting cellulose 36. W3 HUA I WU S @ 9TH
present in the grass and / or fodder that st w & Atwe dewdts w1 gEE
they eat. This ability is attribute to the - 2
: # wE o &1 TE e
() presence of cellulose digesting A) w87 #H ﬂ?—g‘b‘l’[@l’ U dTe
bacteria in the rumen wﬁ £ Ity
(B) production of cellulose by the (8) w= EEmr Wﬁr & 309EA
rumen
[C) acids present in the rumen ) w7 & Hleg e
(D) prolonged retention of cellulose in 0 = & fegdw &1 &% FAT
the rumean TF T
37. Which of the following has the most |37. Er=lfaa & o foer s aFa
penetrating power? T W i7
(Al a-particles (A)  o-woR
(B] p-particles (B) p-wor
(€] y-particles (C} y-=por
(D) All of the above (D) sudtea w=it
38, The blackboard seems black because it 8. A gafae wren Rad & g
(A} reflects every colour (A)  &T 3 Fr wETET = §
(B] does not reflect any colour (B) Frelt ot @ #f wrlda =&
thidl
(C] absorbs black colour (C) Wy o Y wrE o
(B} reflects black calour (D) @y o7 & guEfy §
e 11
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Part-A: General Awarenass ANO7CGLT2023 et
39. Whatis the pH l|:|'I:|:lun? water? 39. @ I & pH = = giar &7
() 1 (Al 1
B 7 B 7
€] 5 [C) 5
) 12 o) 12
40. Which one of the following is not | 40. FrFifafad & & Tam@d T & fHv
responsible for the global warming? fariER 7ET &
(&)  Carbon dioxide (A wHEE E.']'é:‘#&'ﬂ'lﬁ
(B) Methane (B} A
(€) CFCs (€) s
(D) Slacked Lime (D) wfees gar
41. The velocity of sound in moist air is 41. & gar & @ & g A= F &
n'-lure than in dry air because the moist T A HOF BT i A g
air has i
{4) less pressure than dry air (A} ar=w gar 1 deen & F4 gaE
(B} meore density than dry air (B} U R #r gem # Hiw
T
(C) more pressure than dry air (C} :IE;? Far fr gaen # At g
(D) less density than dry air (D) == g & gE=0 F FH o e
42, The term brown air is used for 42, gEd vy weg & v fvad @
frar e B
(4) industrial smog (A)  sftezifre sl
(B) sulfurecus smog (B) wewgrE wAW
(€} acid fumes (C) v
(o) photochemical smog (D) e =
12 i
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Part-A: General Awareness AND7CGLT2023 HIT &: HIATT FATEEAT
43. Peroxyacetyl nitrate is a 43, m T
{A) acidic dye (A)  arFirT 3
(B} secondary pollutant (B) zRdrer gguw
(C} plant harmone (C) grT grHl
(D) vitamin D) e
44. Members of the Union Public Service |84, ww s @ar smahr & woedt &t
Commission are appointed by the ﬁfﬂﬁlﬁ e gara #r Fimelr &7
(A) President (A) T
(B} Prime Minister (B) wtmwHAT
[C)  Chief Justice (C) e =fEew
(D)  Law Minister (D) e Ao
45.  The total energy of an electron inside an | 45. R GG & 3HEX U gerele # w
atom is ' ot grelr &
(A)  zero A) =
(B)] more than zero (B} 7w & o wioe
[C) lessthan zero (€] =@ & 55
D)  Infinite (D) s
46. A perfectly competitive market has 46.  TF i wiEenf aman & A b
(A)  only one seller (A)  Faw o e
(B) at least a few sellers B &7 & &1 TR fagrar
[C)  many buyers and sellers i€} w2 wier ik fAear
(D) firms that set their own prices D) F w9F=r A1 3T FrEy =g
i o £
47. In arecession, GDP 47. =S A, S
[A) Grows negatively (A) T W W dwar
[B) Grows slowly (B) oi-ehy aoar ¥
' (C)  Grows rapidly (C} oo 3 agar &
(D) None of these (D) =t & w1 =
= 13
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Part-A: General Awareness ANO7CGLT2023 i
48.  Which one of the following is not a basic | 48,  f=ifafaa A @ #ia-H UF HRdm
feature of the Indian Constitution? wifaun 1 A7 T 7
(A)  Presidential government (A) SeiEfIT e
(B} Federal government (B) e WHE
(C) Parliamentary government (C) THdg #FH
(D) None of thesa (D) =3 & FE A
49, Plants are green because of the |[49. frw avfw & sofeyf@ ¥ FHoT oid
presence of a pigment called g B &7
(A} Glucose (A) T
(B)  Mitrogen (Bl swsghae
(C) Chlorophyll (C]  wFrifthe
(D) Oxygen (D)  sifFdas
50. ISRO stands for 50. ISRO = faemieT 7 &
[A] International Scientific Research () siesgm AR SR
Organization TR
() Indian Science  Research (B) sl Rram anqeeanT Heee
COrganization
(C) Indian Space Research IC) sl siwfer srgemT e
Organization
(D) International Space Research (D) sicdiedra siafter segwen= Haser
Organization
14 i
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Part-B: General Intelligence
and Reasoning ANO7CGLT2023 HIT W: WA 4R A aF

LKA Col e B BT EG
PART-8: GENERAL INTELLIGENCE AND REASONING

51, If in a code, MIND becomes KGLB and 51. gf MIND TRt ®i2 A KGLE &=

ARGUE becomes YPESC, then what will FIT & 3k ARGUE T = &

DIAGRAM be In that code?
YPESC &= @ B , & 3 Sy #

DIAGRAM &1 U7

(A} BGYEPYK (4) BGYEPYK
(B) BGYPYEK {B) BGYPYEK
(C) GLPEYKGR (C}] GLPEYKGS
(0) LEBGYPK (0} LKBGYPK

5e. If "eraser’ is called 'box’, 'box' is called 52. afy BT & Eew &l AT OB,

‘pencil’, 'pencil’ is called 'sharpener' and . :ﬂ'ﬁ'ﬂ" = owET R 4
‘sharpener’ is called 'bag’, what will a

child write with? "M FET il & 3R e

' owE @ § & ST R

e
(A) Eraser A wm
(B) Box B)  afFm
{C} Pencil €} dfa=
(D} Sharpener 0} amiar

53.  If DEER = 12215 and HIGH = 5645, how | 53. af* DEER = 12215 3T HIGH =

will you code HEEL? 5645 E, A 39 HEEL & 1 #1a
A7
(A} 2328 (A} 2328
(B) 3449 (B) 3449
(€] 4337 (C) 4337
(D) 5229 ) 5229
= 15
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AND7CGLT2023 s @ e R A ah

o T A AeEd &6 oiar B,

54, If 'orange’ is called ‘butter’, ‘butter’ is | 54.
called "soap’, 'soap’ is called 'ink’, 'ink' is "Hefl=T & 'wrEd el SR 2 T
called ‘honey’ and ‘honey' Is called F1 ‘TITEY T aTElT g, T # R
‘orange’, which of the following is used sl sty
for washing clothes? wgT ST & AR e . o

ST & A Aeaiaa # §ow 'R
o 4 F TRy IugtT G S E7
{4) Honey (A e
{B) Ink (B) Fma
(€} Butter €} woE=
(D) Orange o)

55. Study the diagram given below and |55, & far oir @ &1 Jega= ®1 3
identify the region representing girls EHED yatafea & ae
who are employed but unmarried. . ::; £ Wﬂﬂ =t 'ﬂ;?ﬁ' x ape

wifgartee &
l"-:rnpl.'u.'w]
7o
AV
7
Unmearried
(A 1 (Al 1
(8) 2 (B} 2
c) 4 c] 4
(D) 5§ @ 5

56 Four forms of a dice are shown below. 6. TE o ¥ OW v oA fBmw o B
In this dice which digit will be on the ¥ EREint
surface opposite to the digit 47 E:[q;#ﬁi %:w: » HHR-

{ii} (] {u-;'l
(A 1 (1
g) 2 (8) 2
ic) 3 €} 3
(D) 5 (o) s

57. The Minute hand of 2 clock is in |57, w& off §f = & '\qé 4:30 T
North-East at 4:30. Then in which
direction the hour hand will ba 3t 10:307 EE_TH' qﬂﬁ?ﬁg;;na; ftﬂ_ .Tﬂ 30 &
(A} South M] g
(B) HNorth-West 8) Ior-uiTas
1€} West i) offgm
{D) MNorth-East 0} e

16 -
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Part-B: General Intelligence

and Reasoning ANO7CGLT2023 T W AT g st 7%
58. Inarowoftrees, atreels 7 from left |58. SH AT TF IR A, CF IS AT O &
end and 14" from the right end. How 7% v =% o @ 4% TuE o B
many trees are there in the row? ;
ofFq & fae 93 &7
{a) 18 (A) 18
(B) 19 (8] 19
(€} 20 €y 20
&) 21 D} 21
58.  Ifthetimein clockis 12:23, Whatisthe |59, =wfr afr HF wsg 12 :23 ¢ aredor &
time in the mirror? AT Far e
{A) 12:33 T{a) 12:33
(B) 11:37 (8} 11:37
(C}) 12:37 (€} 12:37
D) 1:23 (0) 1:23
60, Ravi and Privanka celebrated their |60. oy 3w frgsr o WA, 4 AT
anniversary on Friday, 4 February 2005. 2005 # WA WEEAE FAgl d 346
When would they celebrate their next : . o
anniversary on the same day? fas S z
(a) 2009 (A) 2009
(8} 2011 (a) 2011
(C) 2015 (€} 2015
(D) 2010 (D) 2010
61.  Aisthe brother of B, Cisthe fatherof D, |61. A Bwrsd i C DwR@ g E B
E Is the mother of B. A and D are fr At § A Dt $IECH
brothers. How Is E related to C? A,
(A)  Sister (A} aga
(8) Sister-in-law (B} sy
(C) Miece (& =T
(D) Wife (D) o=
62.  Six members of a family namely A, B, €, |62. Uw qfEw & oF wEEy ¥uid A, B,
D, E and F are travelling together. '8 is C. D, E ¥k F U WY T W W
S CoMEIE | W cwia b 00
of B. A an
brother of C. D is the daughter of A. Fis ATk AN C RaRa ¥ 81 E C
the brother of B. How many male a1 D, A FY A gl F, B &
members are thera In the family? o %) ofEr & e o weEe §@7
(&) 3 (-
(B) 2 (B} 2
€} 4 L
o) 1 o 1
. 17
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ANOTCGLT2023

63. An official meeting is attended by 130
department employess. Of them, 66 130 FAO HET W9 8 FAE ¥
drink tea, 56 drink coffee and 63 drink -

. 56 Fg 9T & I
juice, 27 can drink either tea or coffes, e e F N oA FIE
25 can drink coffee or juice and 23 can 63 ¥ et § 27 T
drink juice and tea. 5 employees can wFa £ 25 @idr ar g@ W WEA |
drink any of the three. How many s 23 S e wrm @ @ f
persons drink only tea? 5 sbar At # ¥ T o O wER

#| Froer w7 daw T 9 €7
(A} 21 (A} 21
(B) 22 (8 22
(C) 18 {C) 13
D) 20 o) 20
64. P, Q R and S are four friends. P is |64 P, Q R S ax Bx ¥ P, Q F
shorter than Q but taller than R who is M AT RAGME A S A A
shorter than 5. Who is the shortest k| Wl & waR g 3
among all? | =l
(&) P Ay p
(B) @ 8 Q
() R i€k R
D) s 0y s
65. Eight people A, B, C, D, E F, G and H are 65 T # fBommw AR ¥ " A, B,
placed as shown in the diagram. All are C, D, E F G 3R H % war mar &
facing In the outward direction. If all of e
them move anticlockwise to three T AW 3R wEa B O @ weh
places, then TAEd @er F & ot ot g A
N
i)
H B
G C
F D
E
(A) Bis facing West (A B 7 m qftmgs £ B o
(B) Eis facing East (8] Eq_&faézmﬂ:ﬂﬁw{
(C)  His facing North-West 1€ H =A@ Ieaw-ofFaw & 3w §
(D)  Ais facing South D) A @ s =y & s ¥
18 L.
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ANO7CGLT2023

Hmmamﬂgfzamat

In questions no. 66 to 6B, a series is given, with one term missing. Choose the correct alternative
from the given ones that will complete the series:

wes FEAT H 66 ¥ 68w, vew Amen & wf ¥ e oF ur g ¥ R v RBeed F & o
wer fEweT =4 S @ s @ e

66.

&e7.

SHG, RIF, QUE, PKD, ?

(A)  NME

(B) MNLB

(C) OLE

(D) OLC

7,8, 18,57, 7, 1165
(a) 174

(B) 232

C) 224

(D) 228
1,0,3,2,5,6,7, 12,9, 20
A} 9

(8) 10

() 7

(D) 8

Ba.

67.

BE.

SHG, RIF, QUE, PKD, ?

(&)
(B)
(C)
(D)

MME
MNLE
OLE
oLc

7.8, 18,57, 7, 1165

(A)
(&)
()
(D]

174
232
214
228

1,0,3,2,5,6,4,12,9,20

(A)
(B}
(€)
(D}

3
10
[}
8

In questions no. 69 to 73, select the related word/letters/number from the given alternatives:
west Hwar i 69 & 73 ow, Rar v et A& § FEflT S/aTUEE 99T S

B9, 720:RB40::60:7 69. 720:840::60:7
(A} 76 Ay 7B
(8) 80 (8) 80
iC} 70 (C} 70
D) 74 (D) 74

70. 225:256::289:7 70. 225:256::289:7
{a) 234 (&) 234
(B) 361 (B) 361
[y 324 € 324
D) 432 b)) 432

71. Money : Misappropriation : Writing : ¥ 71 O : AT : : BrEar: ?
(&) Deception (A} efrar
(B) Mistake (B)  rerer
{c]  Plagiarism €}  afgfras ol
(D) Theft D) =dr

i 19
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72, YTOJ: XSMI: : WRMH : ? 77, YTO): XSNI:: WRMH : 7
(A)  VOLG &) vaLG
(B) TOIE (8] TOIE
{C)  RMHC IC) BMHC
(D) UPKF D) UPKF
73. EIGK : EACY : : RVTY: ? 73, EIGK:EACY::RVTY:?

(A)  RVSQ
(B] RNPL

(C} RWUY
(D) RMPL

A} RVSQ
IB) RNPL

€] RWUY
i) RMPL

Question no. 74 to 77. Study the given diagram carefully and answer the questions where
rectangle stands for business man, square stands for hard working, triangle represents artist and
circle represents singer.

Wed HEAL 74 ¥ 77, Tew aw sGw w7

W swEh s &, @ &1 Ik w6 dgew s £, B seer @ aRfaite & AR

woage &1 AT vt & S & ST T

gew s & WAt & §
/%(_EN
7
AN
/12 \a
a M‘:. _.4-"”'
9
74. 'What Is the number of hardworking | 74. 0@ #gadr cogwiaat € degr BadAr
businessmen who are artist but not t A wEer @ ¥ afee oo A8
singer? #
(2) 12 (A 12
8 8 iB) & :
cy 7 1= B
(D) 9 o) 9
75.  How many singers are hard workers but | 75, o e Ag=ar € AfeR s
not artist and businessman? 3T =aFErET wE 52
(A} & (Al &
(B) 4 (B) 4
C) & ) &
(D) Noneof these (D) = & = =8

20

il

(¥ Scanned with OKEN Scanner
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76.  What is the sum of the numbers which | 76. = wEmmalt 71 o w1 & = Fa=
represent only businessman and only :

singer? TaaarEl 3 dFaw mae & aufidh #7
(A} 13 (A} 13
(8 12 (g} 12
(C) 16 (€] 16
D) 14 () 14

77.  How many persons have all the four? 7. o wfEaat F o TRt &7
(A) 12 W) 12
(B} 9 (B} 9
(cy 2 e 2
(D) 4 (0} 4

78. A watch which gains uniformly, is | 78. TF of St @EE FT B 24 &,
2 minute slow at noon on Monday and . ® EEt & 2 W e g
4 minute 48 second fast at 2:00 p.m. on ; : ;
the following Monday. What time it & 3 e ; Ll 2:00 7ot
ways correct? 4 e 48 d9w o9 g &1 9 FE

AT wE Al ¥ aEa

(A}  2:00 p.m. on Tuesday (A) ey gugt 2:00 3
(B) 2:00 p.m. on Wednesday (B)  ge@r ZMeY 2:00 =
(C) . 3:00 p.m. on Thursday (€} agamw g9ET 3:00 L |
(D) 1:00 p.m. on Friday (O} e ErvEd 1:00 Tt

78. How many times dothe hands of aclock - | 79. o = & oft & aq"g:ﬁ' ot @T
point towards each other in a day? TH ZAT N AT ST R g
(A) 12 (Al 12
(B} 20 (B} 20
(c} 22 ©) 22
(D) 24 (D} 24

80. A monkey climbs 30 feet at the |80. us @2 & W& # yeuw A
beginning of each hgﬂff;;‘fr*ﬁ:?” 30 fr wear ¢ R T I I
while when he slips bac eet before ol e
he again starts climbing in the beginning By T 21 zrﬁ: i ) ﬁ:mﬂ
of the next hour. If he begins his ascent § T en G g
at 8:00 a.m., at what time will he first qGAl YE F oA Fl IR AF {UE
touch a flag at 120 feet from the 200 T AT o UE H g oar
ground? oF WA U o # 120 de S

Fae o fBug 3§ B oy

(A) 4:00 p.m. (A} 4:00 gEEs
(B} +5:00p.m. {8) s:00 gaieA
(C) 6:00 p.m. ) 6:00 qaiET
D} Mone of these (D} gt & g T

: 11
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o @ AT 2R At o

Question no. 81 to 83. In each of the ques

tions below are given three statements followed by

three eonclusions numbered |, Il and Ill, You have to take the given statements to be true even if

they seem to be at variance from the commaonly known facts.

Read all the conclusions and then

decide which of the givan conclusions logically follows from the given statements disregarding

commonly known facts.

W WEOL 81 ¥ B3, A BT v v e W # de e AR 5EE 9w n s N SR
ah'ﬂﬁﬁfﬁvwﬁlmﬁmmmﬂﬂmmtnﬂﬁammtmaﬂ#
et Wt A1 ) it Bewet 5t oF sk fse @ w1 B Bu aw free & § w®lF @ Feer
T A F TR F g R M e & s w9 & SgEor o b

B1.

82

Staternents: All dolls . are  windows.
All bottles are windows.
All cars are bottles.

Conclusions: 1. All cars are windows.
Il. Some cars are dolls.

111, Some windows are cars.

(A)  Only land Il follow
(B)  Only lland Il follow
{C)  Only | and NI follow
D) Al follow

statements: All snakes are trees.
Soeme trees are roads. All
roads are mountains.
Conclusions: 1. Some mountains are
snakes.
ll. Some roads are
snakes.
Iil, Some mountains are
trees.

(a)  Only | follow

(B} Only |l follows

{C)  Only Il follows

(D) Bothland Il follow

81

82,

e wfr qfdar fEEfEE g1 w
dow FEREREl & o W
CIGER S

fersad: | @t &1L @St
I, g @t T
. g fasfmar = §

(&) = | 3T 0 e w1

(B} daer 11 3T 11 3FeT &l §

(€} ae | T I T B

(D) el sregeeer wi

T T AT 9% §) o 9% WS
#1 wah azd amE £

e | T 95 A E
Il. T H5& FW §l
ll. T& 9§15 9% F

(W) deret | a1 agor awar §

(B) & || 7 sETETT W B
€} et Wl &7 3rgEeer wear
1B} | 3R N @ sepEer T §

22
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T T A 9y st @l

83.

Statements: Some towels are brushes.
No brush is soap. All soaps
are rats.

Conclusions: |. Some rats are brushes.

[l. Na rat is brush.

lIl. S5ome towels are scaps,
(A}  None follows
(B] - Only either | or Il follows

{C]  Only Il follows
(D) Onby 1 and i follow

83,

A T dtew @w g @ aw
A AE E W A g
fermend. |. w gf 7§
I, % =7 &9 =4 ¢
i, T AT A £
(A)  ré IeTETer A HE
(B) ey 3p A | AT | FTEAOT A

3
(€ dme Il 3peT T B
(0} aaer | 3 1l FegEReT T §

Question no. 84 to 86 In each of the following questions, a number sequence is given in which
except one of the terms in the sequence are alike. You have to find out the number which is odd
in the sequence.

WA HEA B4 ¥ 86. v=e v # U= WEW HHA T § T saEw # @ S onE
W 9F AW §| e 97 @6 wa S § oA weea A e

84.  B,27,64,125 216 84, 8,27,64,125 216
(a) 27 Al 27
(B} 64 B) &4
[C)- 3125 ) 125
(D) 216 (D) 216

85.  24,18,222, 82,421 85. 24,18, 222, 82,421
(a) 18 (a) 18
(B) 222 (B) 222
(c) 82 C) 82
(D) 421 (D) 421

86,  2,6,12,72,824 86. 2,6,12,72, 824
(a) 6 Al 6
(B) 12 (B 12 .
1:j 72 (ch 72
(D) 824 (D) 824

e 23
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st @ @ gfe T a6

87,

B9,

Rajesh walks 7 km to the north then
tumns left and walks 3 km. Then takes
another left and continue walking this
time another 7 km forward, How much
distance in km is he away from the
starting point?

(A} 10km
B) Gkm
iC) 3km
D} 2km

A group of 1200 persons consisting of
captains and soldiers is travelling in a
train. For every 15 soldiers there is one
captain. The number of captains in the
Eroup is

{A) 85
B} 8D
icy 75
D) 7D

An enterprising businessman earns an
income of Re. 1 on the first day of his
business. On every subseguent day, he
earns on income which Is just double of
that made on the previous day. One the
10™ day of business, his incame is

(A) Rs 29
B} Rs. 210
[C} Rs. 10
(D) Rs. 102

gl.

8B.

89,

T 7 GeA Ied @ NN HEA E
Mg arit 3R g ¥ o 3 A
geer &1 Ry ard 3 aE AW AW
?ﬁ?ﬁriﬂﬂﬂﬂmmlﬁlaﬁ
wfEE Ry @ P F feoeR g0 T
87

(41 10 R

[B) 6 f&.AL

i€} 3 fimsn

o} 2 fawA

Yow R #WEWT H FEA
1200 =afoat @ T @AF U & 7
T T W0 gl wEE 15 AReT W
T FoeA §IA1 §l WAg F Frami
e
(A) 85
(B) 20
(c}) 75
(D) 70

TF InTAUE SaErl 3us sgEAw
® TEd BE e e o g
EaCUE T C o e e—
HE SR o B Row fw o6
A A A 1 saew & 108 BE
THET W gl B

A %, 29

(B % 210

i€ =% 10

(0} % 102

4
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ﬂma:mgﬁcaﬁ?aﬁ

g0, A taxi driver commenced his journaey 90, ux Yl a4 oW a?'.- & =T
i :
ram a point and drove 10 km towards amr 4w $r 3t 10 B TeaT &y AT
nerth and turned to his left and drove a2 Rt
T g @ ¥ ATET 5
another 5 km. After waiting to meet a il )
friend here, he wrned to his right and M W @ R AR ¥R o
continued to drive another 10 km. He {AST W 9, 9% WA ST
has covered a distance of 25 km so far, A wE I st 10 B s T
but in which direction would he be ot iy
| TN TF HE AF 25 gl @
w7 gar §, Al 3w o B R A
BTy
(A}  Morth (A} 3=
(B) East (8] T‘i
{C)  South (C] ZiEmT
(D) West (D) ufFaw
91.  Today is Varun's birthday, One year (81 I 7501 &7 FFmieA § 39 # 7%
from today he will be twice as old as he ﬂ‘#m‘fmﬁraﬂuﬂﬂﬁﬁmﬂ
was 12 years ago. How old s Varun
# T B ATEE e @%er T 3R
today? N
C frett 7
(A) 20years (Al 20 =
(B} 22 years (B 22 a9
(C) 25 years (C) 25 af
D) 27 years (o) 27 af
Fim Fi N
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oI W g 4iE 3 %

9i.

o3

a4,

In a town, 65% people watched the
news  on a0%
newspaper and 25% read a newspaper

television, read a
and watched the news on televizion
also. What percent of the people
neither watched the news on television
nor read a newspaper?

(YR

(8) 10
(C) 15
(D) 20

Sumitra has an average of 56% an her
first 7 examinations. How much she
should make on her eighth examination
to obtain an average of G0% on 3
examinations?

(A) BE%

(B) 78%

(C} 92%

(D) &GEB%

A rectangular carpet has an area of
60 sg. m. If its diagonal and longer side
together equal 5 times the shorter side,
the length of the carpet Is

&) EBm
(B) 1im
C) 15m
(D} 145m

9.

93.

uF wEl &, 65% @ e W
e dad § 40% FRT AT 93
g & 3t 25% AT mATEE OF 9
¥ it deifee o7 o FAMER AET B
Bret widere we & At eeidee W
T dEa £ R A @ HEE e
77

(A) 5

(B) 10

(C} 15
D) 20

ﬁﬁ'ﬂmr&mﬁ'fﬂﬁff?m:%
stET 56% B 8 wimmadl d dwas
BO% & WeT = ¥ v 3@ HuE
Frdt afen # e sAET Tfge?
(A) 88%
(B) 78%
() 92%
(D) 68%

TH WTAER ST & A5G 60 F4
HieT {1 ol gua fwor v w6l e
e BT oo & 5 T & ae
B, o wield & wEs

(A &

(B) 12 #

) 15 3

(D) 14.5 #r

26
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95.

96.

ar.

Kim can do a work in 3 days while David
can do the same work in 2 dénrs. Both of
them finish the work topsther and got
Rs. 150, What is the share of Kim?

(A4) Rs. 40
(B} Rs, 6D
(C) Rs.70
(D) Rs. 75

In a certain code, ‘CONVENTIONAL" is
written as ‘NOCNEVOITLAN'. How is
‘ENTHRONEMENT® written in that code?

(&) TNEROHEMMNTNE
(8) TMEORHMENTNE
(C) NTEROHEMMNNTE
(D) TMEROHEMNNTE

select the missing number from the
given responses.

() ©4
() 121
(c) 81
(0} 100

95.

36.

97.

Bt OF T F 3 AT % W T
¥ gt 2faw 3 F@ oS 2 BeT A
F{ TFT B g TAee &8 W
e & allt 150 v W §1 R oW
Rrrar e 87

(Al % 40

B8] % 60

i€} = 70

b} % 75

v+ [Bffag #F &7, "CONVENTIONAL'

F 'NOCNEVOITLAN' & &9 #
Pram = R IW ST A
ENTHRONEMENT' & Tomr amar
B

(&) TNEROHEMMNTNE

(B) TNEORHMENTNE
(€} NTEROHEMMNTE
(D) TNEROHEMNNTE

for v Io A @ AW FEW W
Y & |

(A} B4
(8} 121
c) =21
(0} 100

27
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98, Select the missing number from the | 98 e W e A H T o
given responses. g1 LI
1\/ﬂ 21\(5? 43/?
88 108 148
(Al 97 (A} 97
8 107 (8} 107
{c) 189 . {c) 189
99.  Complete the series: 99.  s@er O w
81, 69, 58, 48, 39, .. 81, 69, 58, 48, 39, ...
(8) 7 " 7
) 10 (8) 10
c}y 22 cy 22
D) 31 i) 31

100. Write the next number in the series: 100, a‘mm-ﬂr Ml wE R

2,5,4,9,8 15 2,5 4,98 15

B =

(A} 14 (4) 14
B) 27 (B) 27
() 81 (€} &1
(D) 36 - (D) 36

>
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PART-C; NUMERICAL APTITUDE
101, If five times the fifth term of an AP is | 101 uf Tt AP & 9T 9% &1 9 9
equal ta seven times, the seventh term AP ¥ Tad vz £ mH TS & aued
of the AP, then what is the twelfth : :
term? ¥, aF aneat T A E?
(Al -1 (a) =1
(B} D (B) ©
C} 1 €y 1
(D) -2 (D) -2
102, If m is a positive integer and m’ Is | 102. =fy m UF t=EHE QUi B AR m
divisible by 48, then what is the 48 ¥ Tawsw B A1 m # SEAAH
ini ibi | ? .
minimum possible value of m AT T
(4) & (A} B
8 9 () »
€y 12 (€) 12
(D) 24 (o) 24
103. Three candidates contested an election 103, &= sedEEnt 2 TR A @9 i
and received 1136, 7636 and 11628 I® w1136, 7636 v 11628
votes respectively. What percentage of A= wreg gu Ao IedEaET w e
the total votes did the winning G . e i =
candidate get? T?ﬁ =
A
o :B; 77%
(B) 77% & s
0%
(€) (D) 90%
(D) 90%
100. The sum of four terms in an AP is 64. 1104 w=w AP # A wE O 64 B
The product of the extreme terms is Jfae wet @ TuEeE 220 §1 9
230, Find the first and fourth term. 3 dier gz e fifaw
(a) 14,28
() 14,28 (8) 10,22
(8} 10,22 (C) 2814
) 28 14 (D) &, 30
(D) &, 30
- — 29
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T T FEATHE AT gen

105.

106,

107.

108.

If x and y are mt-egers and x + y is even,
which af the fallowing must be aven?

(a) =

(B) v

€}  xy

D) x{y+1)

The sum of place value and face value of
Ein 43836 i.e,

a) 88

(B) 808
[C) 880
(D) 888

The sum of natural numbers which are
divisors of 100 is

(a) 116
B) 117
ic) 21

D) 217

1
When 7}- of a number is subtracted from

the nurn-her itself, it gives the same
value as the sum of all angles of a
triangle. The number is '

Ay 224
(B) 210
{C) 140
(D) 120

105, ufg x T y oiw & AR x + y WA

107.

108,

i o Feefaf@a & & st o w7

g anfge?
(A) =

(B) ¥

(€} =y

(D) xiy+1)

43836 # wunhm A= 3R fea A=
8 1 = I

(a) B8

() 808
(C} 820
(D) 888

3 WId HEATHT & A4Er S 100 &
o F,

(A) 116
(8) 117
€ 21

(0} 217

W%MM##ﬁﬁwm
& swh &, o @ RS & wsh A

#w#mmmﬁ?ﬂm
wEm

(A) 224
(B) 210
(C) 140
(D) 120

(¥ Scanned with OKEN Scanner



Part-C: Numerical Aptitude

AMD7CGLT2023

NI T HEOTRE TEEar

108.

110.

111

112

A number when divided by a divisor
leaves the remainder 24. When twice
the original number is divided by same
divisor, the remainder is 11. The value
of divisor is

(A} 13
{B) sg
{C) 36
(D] 37

The breadth of a rectangle is 25 m. The
total cost of putting grass bed on this
field was Rs, 12375 at the rate of Rs. 15
per sq m. the length of rectangle is

Y
(B)
(C)
(D)

27 cm
30 cm
33 om
32 em

A common factor of [(41)" + (43)*) and
[(a1)* + (43)"] is:

(a) (43-41)

(8) [a1)* +(43)
€ [an* +(3)"]
(D) (41+43)

41]

If the areas of three adja:zent I'EIEE:: of a
cuboidal box are 120 <m, 72 ¢m” and
£0 em? respectively, then the volume of

box is :

g20 cm®
720 em’
750 cm”
850 om’

(A)
(B)
()
(O]

108.

110.

113.

112,

Us W # s @ Ewfea ==
ot N 24 a9 B FE AW W
& g 3 A 7 s s
Oy A 11 MTET B "I W A

G

(A} 13
(8] 58
{c] 36
(o) 37

e ¥rag 7 fieEg 25 Ay § o§w
#emr o ww w1 fawar @ B T
AT 15 IO 9 gdtdey B e w
12375 sud o, Imae fr FJ4F &
(A) 27 60

(B) 30 &=

(€ 33 &

(D) 32 #r

[(41)4 + (43)") and [(41)" + (43)")
W T HAE UEEE

(A) (43-41)
(B) [{a1)" +(43)"
(€} [(a1)* + (43}
(D) (41+43)

ofEr e mmen B F O WEe

ToET @ aFwd 120 & 3
72 ##r° 3t 60 ween @AY, o 9w
T TS &
(A) 820 ®#HY
(B) 720 ##Y
() 750 #
(D) 850 &+

31
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113,

114.

115,

3
a

{a)
{8}
L8]
()

3

— of — of A, of 1664 is:
h 10

648
62
b1l
728

';- part of a pencil is black and % part of

remaining is white. If the remaining part

is blue and length of blue part is 3 %cm i

then length of pencil is: |

(A
(B)
(C)

(D)

(Al

(B]

[l
(o)

Gom

T om

2 cocm

9 om

“The value of 0.142857=0.285714 is;

b2 | =

EM:.-:-M-!

113,

114.

115.

7 5 3
A S I S
1554*14: : 4?

(A)
(8)
()
@)

1

]

G4E
762
612
f28

o SRS T T AT e £

%ﬁmmmﬂﬁn‘rﬁrmﬂm

¥ sty ey arr iy Fard 3%'9#?-‘.

ot g & Fad i

(&)
(B)
(€}
(o)

§ HH
7 A
8 @
9 #

0.142857+0.285714 &1 &

(A)

(B)

(<}
(D)

=N

L || =

32
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116. If a number is multiplied by three - | 116. afx Trdt e = SaF e &
fourth of itself, the value thus cbtained
: o T &, At AT
is 10800, the numberis: . = i TaRa0:S,
papre S
(A} 210 (A) 210
(8) 130 (B} 180
(C} 120 (C) 120
(D) 160 D) 160
117. Twice the difference between two |117. 2y @&arst & 4 & Ao & G’Eﬂﬂi
numbers is equal to their sum, If larger % W & auEc b ofr =9 T
number is 15, then another number is: 15 & A B % s
(A} 12 A} 12
(B8] 10 (B) 10
(€} 5 [C) s
D) 9 o) 9
118. If the area of a regular pentagon is 118. ofr o FoET 'EIT-.I'E_FI' o i v
12543 sq cm, then length of each side 1253 a0 & & &1 wdw e wr
is: Fﬁl’g %‘
(A) 15em (A) 15 3=
(B) 16cm (B] 16 @+
(€] 10cm ) 10 ¥
(D) 25em (O 25 #AT
119. Three cubes of sides 1cm, 6 cm, 8 cm | 113. 1 ¥, 6 W, 8 WA HETE At e
are melted to form a new cube. Half of =t F oEET U A4T O4 &40
surface area of new cube is: AT ¥ A T W YT HOE EEh
e
(A) 243 cm? (&) 243 AT
(B) 483 i (B) 463 BHT
() ag6 e (C) 486 &+
(D) 493 cmd (O) 493 4
33
iz s ;
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120, The diameter of a roller i5 84 cm and Its | 120, U= IeiC 7 =0 84 330 F 3R FER
length is 120 cm. it takes 500 FarE 120 | B v G & HAEE W
revolutions to move once to level a a1 ¥ AT v AW e #
::;Iaﬁ,-'grnundJ then the area of playground 500 s E dr B ¥ A
& ETEEA b
(a) 1632 m® (a) 1632 #Hed
(B} 1584 m* (B) 1584 #Hred®
[c) 1817 m? (€} 1817 #eL
(D) 1532 m? (0] 1532 #HeT
121, A sum of Rs. 1521 is lent out in two | 121. 1521 ¥war iy Wfer & & & # &
parts In such a way that the interest on W ST BT St B R UE M @
one part at 10% for 5 years is equal to —_ arrar
that of another part at 8% for 10 years. 5 @df & faw 10% = {E‘i *
What will be the twe parts of sum? gy 10 79 & fv 8% &F &+
AT 211 9T ar wEr Sl d 8
{A) Rs. 926 and Rs. 595 (A) ¥ 926 3R %. 595
(B} Rs. 906 and Rs. 615 (B) = 906 ¥ ¥. 615
(C} Rs.916 and Rs. 605 (€} % 916 3T ¥ 605
(D)  Rs. 536 and s, 585 (D) ¥ 935 3T ¥ 585
122. A person bought 8 quintals of rice for | 122. ww =fda & o voa # 8 e
certain rupees. After a week, he sold uET @ien UF T ¥ WE 3
3 guintals of rice at 10% profit, 3 guintal :
of rice with neither profit nor loss and 3 _“E'EE' Ew 10% W W, 3
7 quintals at 5% loss. In this transaction, fordes arad & df & HiT = & gl
what is the profit? T T 2 faEew waEd 5% @i e
#T| BH WAt H, W wT B7
{A)  1.5% (A) 15%
B] 2% (B) 2%
[C] 25% [C) 25%
(D) None of these (C) =t & +F =7
123. A merchant had 50 kg of pulse. He sells | 123. w& =Ml & 9/ 50 FREr arer o
ane part at a profit of 10% and other at T NET ED 10% =TS
59 loss. Overall, he had a gain of 7%, j_- 5% Ffr Peies T IR {Fﬁ:
Find the guantity of pulses, which he 81 &l o AT
sold at 10% profit and 5% loss. 3= 7% @ WRET g3 G il E
e Hifae, @ saw 10% iy 3
5% B\ O @
(a) a0kg 10kg (A} 40 =t 10 Fear
(B} 40kg 15kg (B) 40 Wt 15 et
C} 4Dkg 12kg (C) a0 Fat, 12 Feer
(D) 40kg 9kg (D) 40 T&am, 9 f&ear
34 Fo
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part-C: Numerical Aptitude ANO7CGLT2023 AT M WEATERE qIEar
124. What is the unit digit in l:aEE xE 7w 72 124, {5“ X627 A SHE NG AT E 7
(A) & (A) 6
(B) 4 (B) 4
cy 2 €y 2
(B) 1 o) 1
125. The sum of 5 consecutive even numbers | 125. 5 &FAWE ®W #Aeast A, B, C, D
A, B, C Dand E is 130. What is the Wt E & @ 130 ¥ A MR E &
product of A and E?
UGS T E7
(A) 720 (a) 720
(B) 616 (B) 616
(C) 660 (C) 660
(0) 672 (D) 672
126.  If a number is exactly divisible by 11and | 126. afy ®iF #=ar 11 v 13 F i
13, which of the following types the RNsT & @ 3 Tem fetares &
number must be? & R £ P ;
{A] Divisible by (11 + 13} (A)  (11+13) ¥ Rsmea
(8) Divisible by (13-11] (B) (13-11) ¥ Tw=g
(€) Divisible by {11 = 13} (C) (11=13) o fEwrsT
(D) Divisible by (13 + 11) (D) (13+11) & Tasn=w
177. The LCM of two numbers is 20 times of 127. 2t HEamif #1 LCM 359 HCF %1 20
their HCF and (LCM + HCF) = 2520. If one I & R (LCM + HCF ) = 2520 ¥
number is 480, what will be the triple of afr T FEar 480 & At E'ET& B Ot
mber?
another nu e
1200
(a) 1200 (&)
(B) 1500
(B) 1500
2100 (C) 2100
() (D) 1BDO
(D) 1800
o 35
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Part-C: Numerical Aptitude

AND7CGLT2023

HET T FEATCAE 49 dar

128.

129,

130.

131

The pair of numbers which are relatively
prime to each other is:

(n) (68, 85)
(B} (65, 91)
{C} (92, 85)
(D) (102, 153)

Moving -g of its usual speed a train is

10 min late. Find its uswal time to cover

the journey.

(A) 25 min
(8]
<)

(D)

15 min
35 min

G0 min

The HCF of (3 - %2 - 2x) and (x° + %% is:

(A) o - x¥-2x
B8] x'+x

(€) xhat-2i
(D) x-2

How many three-digit numbers are
there which increases by 396 when the
first and last digit of the number is
interchanged?

(A) 57

(8} 50

(C) 45

D)

Mene of the above

128.

129,

130,

131,

. Q)

HEdt & g 5 A U gEd o
HIRITRE AT

(&) (68, B5)

(B) (B5,91)

(C) (92, 85)

(D) (102, 153)

mﬁmﬁﬂﬁﬂgﬂﬁr#ﬁ#

= vF & 10 Bee & ® 99§
arEr T R W WAET TR A
Fafaw)

(A} 25 Wz
(B) 15 W=e

35 Wee
(D) 60 Wwe

(x' =x*-2x) T (x*+x?) &7 HCF & :
(A) x*-x'-2x

(B) x +x%

(€} x*-2o

(D) x-2

U el e SR dea ¥ e
ager A 3T HE W aew F agEa
o 396 #r gy gl 7

(A)
(B)

1<)
(D)

57
50
45

T T W o il

kL
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part-C: Numerical Aptitude ANO7CGLT2023 MO T WEAERE T
"132. A five-digit natural number s | 132. Ui 3E A1 oF Qhiod HEar N
W“ﬂf'E_rEd and is divided by the sum of s AE dEW ¥ A ¥ awr @
the digits of the number. What can be :
the highest possible ratia? feiaa T ofren 81 F=aas gy
FIATET T §1 W] g7
(A) 22222 (A) 22222
(8) 90909 (B) 9090.9
(C) 9999 (c) 9939
(D) 10000 (D) 10000
133. If an eight-digit number 537867AB is |133. S537867AB UF WIS 3H 1 FET B
divisible by & or 7 or 9, then what is the = 6 @ 7 oar 9 & s ﬁ.l it
value of ordered pair (4, B)? - P — -
(Al (3,8) (&) (3. 6)
(B} (9.8) (Bl (9,6)
(7 2) i€} (%2
(O)  (5.4) (D) (5.4)
134, A merchant mixes water in purest form 134, T =amNEr B ¥ qEeTH T H orr
of vinegar and sells it at the cost price. If e P W T B oaf
he sells 2 litres of the mixture at Rs. 110 .
10 9 A a=ar
and gains 22.22%, find the quantity of TE 2 wirex fAsT 110 3
water in it before selling? R 22.22% FT TN WST FLT g, A
o4 @ TR SUH el & AT A
G|
Al 36379 ml (A} 36379 T
(B) 363711ml {B) 363711 A&
(C) 364611 ml iC) 384811 i
(D) 33679 mi D} 33679 .Y
135. The average of five consecutive positive | 135. 9T HAWE UAlcHS QoI &1 HHT
integers is M. If each term is d“"“::‘:d M B of wedw 9z &1 2 & mer fEar
by 2 and five consecutive Integers or the AT Ay . P
old series are included, then the new ﬁi iqr{ el b
average Is iﬂﬁa‘ii MTHH .
Hrad &
(&) Increased by 1.5 (A) 15 & iz gk
|B) Increased by 0.75 (B 0.75 % gf& &%
{C) Decreased by 1.5 (€] 1.5 #r &+ Eé‘
D) Average remained the same (D) 3ftea g8 W
= 37
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Part-C: Numerical Aptitude ANO7CGLT2023
136. The Units digit of the gven | 136 o7 a0 cald 7877 x 567 x 972 §
eXpressionT8  r x SE I x §71250;- =TE F HE B
() & Al 6
(B) 5 B 3
€y a (c) 4
) 3 D) 3
137. Each face of a cube can be painted in 137. o ¥ Wdd Hew H HIA 9T TEG
black or white colour. In how many T & T ST WHAT &1 A W oy
different ways can the cube be painted? :
; Byt W& § {30 FT "HEaT B7
A) 9 ia) 9
(B) 10 (8) 10
€ 1 (C) 11
(o) 12 (D) 12
138, ‘What will be the remainder If 468 is 138. ofx 468 =r 192 3 EE I GERE v B 1 1
divided by 1927 ar S Far B
(A 16 (&) 16
(B) 49 (B) a9
(C] 64 (€) 64
Dy 21 o)y 21
139, Let N = 3029282726...4321 be a larger

number. What will be the remainder
whaen N iz divided by 97

(Al
(8)
c
(D)

O =~ @ A

139.

AT N = 3020282726, 4321 ©w af

FEIT R FE N WO Resmide fear
0 & RS W B

(a)
(2)
(€}
(D}

o = @

38
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part-C: Numerical Aptitude
140,

ANO7CGLT2023

T I WEATEHE AIAT

Two wvessels are filled with diluted

sulphuric acid, not up to the brim.
Vessel A has sulphuric acid and water in
the ratio 4 : 1 and Vessel B has water
and sulphuric acid in the ratio 3 : 2. If
twice of the volume of the sulphuric
acid solution in Vessel A is thrice of that
of vessel B, then what will be the
concentration percentage of sulphuric
acid in the new vessel C, where both the

vessels’ solution are mived up?

(a) 65%
(B) 72%
(C) 78%
(D) Cannot be determined

140.

& J4 o Aeene URE ¥ g
¥ oor feey o Ad F0w A A
aerfie Ui A e S A
41 ¥ dix == B A O N
Fergfs URE @ e 3:2 §) 3R
ada A # Fergite URE =9I 1 A
waﬁ@.iﬁﬁ'ﬂﬂiaﬂmaﬂmﬁ
e & @ ar @ C A FEERE
offie &1 WiEw wiavd w4 g, SEl
=t Tt # Ote AT 9@ B

65%
T1%
TE%

& A8 fEar S Jehar

1y
(B)
(C)
(D)

101, {(476+424) ~4x476x424)=1 141, [(476+424) —4x476x420)=7
(A) 2906 i R
(B) 3116 ) Fls
€) 2704 (C) 2704
D) 2904 (D) 2904 .
: 3
142.  If 60% of % of a number is 36, then the | 142. g ARl et ¥ E Cldads
number is: Al o &
5 i (A} 80
(B) 100 i 300 :
s ) 75
4 R D) 90
= 39
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Part-C: Numerical Aptitude

ANO7CGLT2023

T I AEATERE Adar

143,

144,

145,

A rectangular courtyard 3.78 meters
long and 5.25 meters wide is to be
paved exactly with square tiles, all of
the same size. What is the largest size of
the tile which could be used for the
purpose?

(&) 14 cms
(B) 21cms
(C} 42cms

() Mone of these

When 0.36 Is written in

fractional form, the
numerator and the defnominatar is?

(a) 34
(8) 45
(c} 114
(D) 135

simplest
sum  of the

Which is the closest approximation to
the product
0.3333 = 0.25 = 0,489 » 0.125 = 247

(a) 1
8
8) 3
4
i) 3
8
b}y 2
5

143.

144,

145.

3.78 #reT @9 3R 5.25 Hex 912
HOAER  HAE @ fegd '
wFr #r diel eEat g B
ST g1 e F OHed @97 FeH S
# T 3w gw 3 & v fear
ST Fel 87

(Al 14 B4

(B} 21 H#T

(€] 42 &+

(D) Z=3% 3 =g

% 0.36 W FeoA WeeAe w9 A&
o Fmar &, & st oy g oW o
BrET 87
(a) 34
(B) 45
[C) 114
D) 135

3e9e 0.3333 x 0.25 x 0.499 x 0,125 =
24 =1 PR wiereeT w2

w1
B
B) 3
i
i 3
8
D) 2
5
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part-C: Numerical Aptitude

ANOTCGLT2023

AT M FEATSHF AT

146.

147,

148.

149,

150.

Given 168x32 = 5376 then 5.376=16.8
is equal to

(4} 0.032

(B) 0.32

(€] 3.2

) 32

The value of [E?-Sd:]z X [32,453}1 i
75.458—40.374

(A 1

(B) 10

(C) 100

(D} None of these

The population of a town increased
from 1,75,000 to 2,62,500 in a decade.
The average percent increase of
population per vear is

(A) 4.37%

(B) 5%

€ 6%

(D) 8.75%

860% of 50 + 50% of 860 = ?
(a) 430

[B] 516

c) 860

(D) 960

Re. 1210 were divided among A, B, C 5o
that AB = 5:4 and B:C =9:10 then C gets

[A] Rs. 340
(B] Rs. 400
(C] Rs.450
(D] Rs.475

146,

147.

148.

148,

150.

168 = 32 = 5376 T&4r wm g, &
5.376 + 16.8 "ML &

(4) 0.032

(8] 0.32

€ 3.2

(D) 32

) - 1
(67.542) - (32.458) i
75.458 - 40,374

(a) 1
() 10
(C) 100
(D) z=df & &% =1

UF TUE A UH IR & e
1,75000 ¥ Te= 262,500 & 15
uiy o sAEE & sea uiowe i

B

(A)
(B)
(C)
(D)

4.37%
5%
6%
8.75%

50 =7 860% + BBO &7 50% = 7
(4) 430
(B] 516
(C) 860
(D) 960

% 1210 & A, B, C & 919 S0 W&H
fataa B o 6 AB = 54 #iX
B:C = 9:10 & C wree #aw &

(A) ¥ 340

(B] % 400

(€} % 450

(D) =% 475

*|

41
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Part-D: General English

ANO7CGLT2023

AT - | FaE)

I FEET St

PART-D: General lish

Read the following passages carefully and
answer the guestions given below.

Aristotle considered human nature, habit and
reason to be equally important forces to be
cultivated in education, the ultimate aim of
which should be to produce good and virtuous
citizens. He proposed that teachers lead their
studemnts FIFIStEI'I'I-BtiEEI”',", and that repetition be
used as a key tool to develop good habits,
unlike Socrates’ emphasis on questioning his
listeners to bring out their own ideas. He
emphasized the balancing of the theoretical
and practical aspects of subjects taught, amoang
which he explicitly mentions reading, writing,
mathematics, music, physical education,
literature, history, and a wide range of
griences, as well as play, which he also
considered important.

During the Medieval period, the idea of
Perennialism was first formulated by
st. Thomas Aquinas in his work "De Magistro®.
Perennialism holds that one should teach those
things deemed to be of everlasting importance
to all people everywhere, namely principles
and reasoning, not |ust facts, which are apt to
change over time, and that one should teach
first about people, not machines or technigues.
It was originally religious in nature, and it was
only much later that a theory of secular
perennialism developed.

During the Renaissance, the French skeptic
Michel de Montaigne (1533 - 1592) was one of
the first to critically ‘leok at education.
Unusually for his time, Montaigne was willing
to question the edifice wisdom of the period,
calling into gquestion the wheole edifice of the
educational system, and the Implicit
assumption that university-educated
philosophers were necessarily wiser than
uneducated farm workers, for example.

151, What according to Aristotle was the

154,

153.

ultimate aim of education?

(&)

(8)

(<)

(D)

Cultivate habit of human nature

Systematically teachers 1o lead

students to good habits
To produce righteous citizens

To bring out students own ideas

The word ‘Renalssance’ is derived from

the
(Al
(B)
{Ch
(D)

language.
English
Italian
Latin

French

Skeptic is a parson

(A)
(B)

(<)

(D)

Who is rational in thoughts

Who danies the possibility of
knowladge

Who believes in rational thinking

Who accepts knowledge of all types

42
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part-D: General English
154.

155.

T H: HET At

best answer:

Choose the best answer for (1),

Al
{B)
iCh
(D]

Wears
are wearing
was wearing

will wear

Choose the best answer for (2],

(&)
(2)
ic)
()

popular

outdated
expensive

infamous

Choose the best answer for (3).

(A)
(8]
(c)
(D)

another
the others
athers

the ather

Choose the best answer for (4).

(A)
(]
(C)
(o)

ANO7CGLT2023
Perennialism was first developed by 156,
(A) Aristotle
(B) Plato
Explicitly is antonym of- 157.
(A} Owvertly
(B) Implicitly
(C) Utterly
(O} Impishly
Read the cloze passage below and choose the 158,
leans have become one of the most worn
pieces of clothing in the world. Everybody
RS | them, from the rural
farmer to the urban lawyer and from
models to housewlves. But why have 189,
jeans become s0 @ aveul get
many answers. For some people they
look cool, for i3 jeans are
simply comfortable. leans were first
designed 18 durable trousers
for farm workers and miners in the states
of the American west. A Nevada tailor, 160.

Jacob Davis, had the idea of using copper
bolts at the comer of the pockets to

make them stronger. They became

popular ——2— and soon many
people bought them.

for
s
with
by

Choose the best answer for (5).

(A)
(B)
(<)
(D)

vaguely
instantly
slowly

comfortably

a3
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Find the correct synonyms for the given
words. '

161. SUMPTUDUS
(A)  Delirious
(B) Gorgeous
{C) Perilous

(D)  Luxurious

162. INSCRUTABLE
(4) Difficult
: (B} Mysterious
(€} Inflexible

(D) Wary

163. LOQUACIOUS.
{A) Talkative
(B) Thirsty
{C) - Beautiful

(D} Complicated

164. TEMERITY
{A) audacity
(B) fearfulness
{C) shyness

(D) stupidity

Find the correct antonyms for the given
words.

165. LUMINOUS
(A) clear
(B) dim
(C) brittle

(D) clever

166. AWE
(4} borrow
(B) shallow
(C) low

(D) contempt

167. ROTUND
(A) round
(B} unimportant
(C} thin

(D} dull

168. MALODOROUS
(A} acrid
(B}  pungent
(C} fragrant

(D} delicious
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ANO7CGLT2023

T T WAT =T

=
pewrite the following sentences in indirect

5|:IEE~|:ht

169.

170.

| said to my classmate, "Please lend me

your cycle."

(&) | ordered my classmate to lend me
his cycle.

(B) | advised my classmate to lend me
his cycle.

(C] | requested my classmate to lend
me his cycle.

(D) | forbade my classmate to lend me
his cycle.

Daman says, ‘Priya s working in

Ahmedabad.’

(A} Daman say that Priya was working

in Ahmedabad.

(8) Daman said that Priya was working
in Ahmedabad.

(€] Daman said that Priya works in
Ahmedabad.

(D) Daman says that Priya i working in

Ahmedabad.

171. The teacher said, "What is the mattes?"

172,

173.

(A

(B}

{C)

(o)

The teacher asked what the matter
is.
The teacher asked what the matter

had been.

The teacher asked what was the

matter.

The teacher asked what the matter

Was.

| said to my friend, "Can you swim"?

(A)

(8]

(<)

(D)

| asked my friend whether he could

swdim.

| asked my friend whether he can

ba swim.

| asked to my friend whether he can
swiam,

| asked my friend whether could he
be swim.

She said, "1 am coming just now."

(A)

(B)

()

(D)

She said that | was coming just
then.

She told that she has been coming
just then.

She said that she is coming just

M.

She said that she was coming Just
then.

a5
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ANOZ7CGLT2023 T T WHT 5

Choose the correctly spelt word.

174. (Al PReferigerator
[B) Refridgerator
{C) Refrigerator
(D) Refriderater

175. (A] Parliamentery
(B) Parlimentary
(C)  Parliamentary

(D)  Parlamentary

176. (A) Recedeing
(B} Reeceding
(C] Receeding
(D] Receding

177. (A} Beligrent

(B] Belligerent
(C] Belligrent
(D) Beligerent

178. [A]) Beguele

(B) Beiguile
{C) Baguile
(D) Beguile

C—

Find the misspeit word.

179. (&) Advocacy
(B] Aristocracy
(C)] Democracy

(D) Courtecy

180. (A) Surveillence
(B} Stupefaction
IC} Preferential

(D) Detrimental

181, (A} Recommend
(B8]  Alluminium
(C) Cemetery

(D) Satellite

182. (A) Radiant
(B) Salient
[C}) WValiant

(D) Brillient

46
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part-D: General English
find one word substitution:

ANO7CGLT2023

ST S WTHTE AT

187. One who cannot be easily pleased-

(A) Cosmopolitan
183. A hater of knowledge and learning: (8) Frightening
i, BiSonile [C) Fastidious
Philologi
&) . o (D) Feminist
(C} Misogynist
D) Misologist
Fill in the blanks with appropriate
prepositions:
184. Commencement of words with the same
letter
(&)  Pun
(B) Alliteration 188, She succeeded ——  dint of
(€) Transferred epithet perseverance and hard work.
A)  with
(D) Owymoron Al
(B) by
€l to
185. A sad song: ) for
(A] Ditty
(B) Knell
(C) Dirge
D) Lay 189, Birds were seen moving —— one
place to another place
change of seasons.
186. A person who loves everybody: (A) *to, with
[a] Cosmopolitan (B) From, with
(B) Fratricide (€ from, for
(C) Altruistic (D) with, for
(D) Aristocrat
Fom 47
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Part-D: General English ANO7CGLT2023
190. He hinted some loss of | 193. Whois creating this mass?
treasure. (&) Who has been created this mess?
{a) at (8] By whom has this mess been
(B) for created?
(© on (C} By whom this mess is being
created?
D) with :
(D) By whom s this mess being
created?
191. She has not read anything
Monday.
{a) from
(B} for 194. The boy laughed at the beggar.
(€} on (A] The beggar was laughed by the boy.
(D) since (B) The beggar was laughed at by the
boy.
(C) The beggar was being laughed by
In the following questions, a sentence has the boy.
been EWEI'I in ACﬂH‘E‘F.FilSSiVE Voice. Out of the (D} The b‘EE.EaI' Was hE‘iHE !HIJEE'!EI‘.'II at I}'ﬁf
four alternatives supgested, select the one the boy.
which best expresses the same semtence in
Passive/Active Voice.
192. | remember my sister taking me to the | 395 They drew a circle in the morning.
museum.
Al A - i
(A] | remember | was taken to the @ cirle has been drawing since
museumn by my sister. morning.
B) | remember being taken to the (B] In the morning a circle have been
museum by my sister. drawn by them,
[C) | remember myself being taken to (C]  Acircle was being drawn by them in
the museum by my sister. the morning
(D) | remember taken to the museum D) A i
by my sister. (D] circle was drawn by them in the
morning
48

e

(¥ Scanned with OKEN Scanner



part-D: General English

ANO7CGLT2023

19T ¥; WTATT Haelr

Till in the blanks with the correct modals,

In the following questions, the underlined

part of the sentence may need improvement.

196. You av f
danel ERY or 10 InEe Below are given alternatives which may
one
improve the bold part. Choose the correct
(A} could alternative.
(B] would
NOTE: In case no improvement ls needed, your
(C} dare
answer is No Improvement.
(D) should
189, 'With _no rain and' any access to clean
197. We ta do a lot of work water many farmers will lose their crops.
brefore the-suemt. Sars (A) Thereisno rain and no
(A)  would (8} Without rain and nor
(8) need (C) Without any rain or
No i
(© having (D} improvement
(D) are
200. When she regained consciousness she
was ‘stretched in the ditchout’, soaked to
el ge: =i s e the skin.
arrangements downstairs.
(A) outinthe ditch stretched
(a) should
(B) on the ditch outstretched
(B) would
" (C) outstretched in the ditch
(C} might
(D) can (D) noimprovement
i 49
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Time allowed: 2 hrs.

1. C 41.
2. ¢ 42,
3. B 43,
4, A a4,
5. A 45,
6. C 46.
7. D 47.
8. A 48,
9. A 49,
10. A 50.
1. B 51.
12. ¢ 52.
13. A 53,
14. B 54,
15. A 55.
16. B 56.
17. A 57.
18. D 58.
19. D 59.
20. B 60.
DreeC 61.
22. € 62.
23. B 63.
24. € 64.
25. D 65.
26. D 66.
27. € 67.
28. C 68.
29. B 69.
30. B 70.
31, D 71.
32. B 72.
3. C 73.
34, B 74,
35 A 75.
36, A 76.
37. C 77.
38. B 78.
39. B 79.
40. D 80.
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ANSWER KEY

81.
82.
83.
84,
85.
86.
87.
88.
89.
90.
91.
92.
93.
94,
95.
96.
97.
98.
99.
100.
101.
102.
103.
104.
105.
106.
107.
108.
109.
110.
111.
112,
113.
114.
115,
116.
117.
118.
119,
120.
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121.
122.
123.
124,
125.
126.
127.
128.
129.
130.
131.
132.
133.
134.
135.
136.
137.
138.
139.
140.
141.
142.
143.
144,
145,
146.
147.
148:
149.
150.
151.
152,
153.
154,
155.
156.
157.
158.
159.
160.

MM: 200

161.
162.
163.
164.
165.
166.
167.
168.
169.
170.
171.
172.
173.
174.
175.
176.
177.
178.
179.
180.
181.
182,
183.
184,
185.
186.
187.
- 188.
189.
190.
191.
192.
193.
194.
195.
196.
197.
198.
199.
200.
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